BIE (3D

THNOOFESTCEEERRRIKRMS
1T YNNIV ITHERZNABNE X
= A i B3 B
wERRE F=4 ESicympr =
- m i 2HIRE ShE8iog 2HRE ShE8I0% | LEREEAS HSER
—r= O ~3.8500[ 1.850M
mlswrieizmal S5 ZBEo—LE500 -
E— 4400 2.4008] __Z4.400@m[ 24008 e
g8 8 Y Y - v Y@z 187508 |miesareonss
IO SE AR EA 102 ZA00M[ 2.400M] 4400M[ _2.4008] 15,1505
T = 24008 2.400M] __Z4.400@] __2.4008 ST
o — “ . R . R PES
& W o U Z v o—IgE 1B/508 |mnarsonss
g | ATFESRANER B 107 3.060Mm] __1.0608
Bl ey T e 30600 1.060m] __3.0600] __1.0608
BUSRBEREZY ) v I——Hes 7.920A] _bosom| _ros0Mm[ Bopom| B/380%
TERREEET S —SReEN| 10z 44008 2.400H
ERpABESO ) — v o[ o6%
v % 0 @ » e 18k ZA00M[  2.400M] 4400M[ _2.4008] 15,508
e TE 38500 18500
— PIIPAT 4w D« DU _wD 12%§ ggggi 15gg8§
BB U=y I—Eg 7700 5.700M 18/50%
Bl BN ESHE =G 2 12%% 3.410M 1.4 T OB ¥R FEHILS 1 8MmMUL
EREREEsHEY Y | O2 ERET.
SLOBTU=y D - @HEYy— [ L0E
BiEERTR— 25 —Shizuoka| — S22 5.060M[3.060M
wH | EREESW EY S - 08 5.050ML__3.080H
ERIMRBEY S -0 5-060M} __S.060M
ERBBREOU -y o108 5.060M__3.060M
E » 8 T # R 12 Z000M[ 2.000M] _4.000B[ _2.0008] 15,505
BIEEE e . 3.500M1 1.500M] 3.5008 1.5008] 15,1008
= — O Z.0008] __2.0008
LD = 5605220003
ERADBERRREREY 5 — i 5:888§» 2:888§»
-
BOERT—Y3avIU_v7 0% 55007 6.5007 £.5000 6.8000 1871008
SUESDYOUZ Y BRI o2 440081 2.400A _ 4.4008] _ 2.400Af 505 18
T = = & TE% Z.0008] __2.000M
nERPFEER %%g i'gggi 2'888§ Z.000M 2.000M@
IVNZAFT T P8BSR — Lol o : Re1o1sl: | M. X 18,308 iag
pr——— 35000 1.500m] 40008 _ 2.0008 D AR EREE
ANAIVRRERBEYY 287 7000/ 50008 1B/50% @l wmiad
RS FEERENED R 10Z 39600 1.960M
2 b - o 7 & ZH8 Z000m 2.000M
8 8 r o 5 -2 : :
AUIVINEBEERE—On S.960ML 1.960Mf 3.960BL 1.960M] 45, 505 Ala
= = TE% 35000 1500Mm] __4.0008] __2.0008 D AR EREE
AR R %%i g'gggi ?'888§ Z4.000M 2.000M e ggqﬁgéggﬁﬁﬁrz
= e : : : : : : S o=
RURER LYY 287 7000/ 50008 1B/50% @l wmiad
T NOR BB E Y B L02
= — TOZ Z.000@] __2.000@] __4.000@] __2.0008
20| BEERYFSLOUZw D 2o: 50008 ¢80 2 830K £355H 10/25%
VEDODIYU= YD 2o: : E : E
= = y— 3.500@] __1.500@] _4.0008] _2.0008 DN s
SURRER LYY 207 70008 50008 1B/50% |mniwmiag
% £ = B W02 10BEREFE
Z I NI DT =T fIEDS 3.960M 1.960M0
24 Rp v vy - 292 38000 T6800@] _3.8008] 1.8008
e W -
W% o U = v o o= : E E
Y AT DT i ZO074M[  2.074@[ 407Z@[  2.0748] 15,508
P — TOZ Z.000/@] __2.000@
WsgeyrFSLoU—v?o o 8000MA] __6.0008
B & & N _& = b TEh%
TrEEE - FREYS [ oOs S E—
BLNBRED U= v o I0Z
TERRERET VY —2aRa=: TO% 4.4008 2.4008
SaERDo ) o ZH8 35000 T500@] _3.5000 T500m
T o B EES r TEmETERT|
PN _ ) 3. 3 s 3 3 3 - 52 =
CHETEMRRZ LYY 1= 1871008 | \rroasmicies
gEEREY SNy o[ 02 4.000/]___2.0008
BEERZ DU - w D 12%% 4.0008 2.000M
= TERRER YD —— B HEa0 1% 4.400M8 2.4008
Sl IGEINE S5 1 LI ] Ml
TERREE /Y — =228 TIohA 4,4008 2.4008
mBm@s o\ - v ol 2Os
MERRHRC Y S |08
wes | D BB R = B 7 J 5 — 10% 4.400M@ 24008
RISt 31 POl ] M
% & =B 7 V5 — TIohA 4.4008 2.4008
e e . 1 38500 T850@] 38508  1.8508
il A A A oE 7.700m 5.700M 7700M 57oom| 187308 Bl
BAEDU-vD BBRDRA| 05 4. TSOH I
T IS LS EERE 103 3.060@| 1.060@| 3.060@] 1.9608| 15,605
A 0§ % #[ 26%
x5 | BA T EE B @D B0 1%
SRS AT S: - | e
2% & 8 7 J N — TohA 4,4008 2.4008
0TIV AFARRRS 1)~ 2 [ 2%
TEEREEBERC Y S — TIohA 4.4008 2.4008
0T IVR IS AIERZ T — D[ 2%
R T EREEE DY D [ 107 22008 2.4008
il BRI IES =l FoU AN It ] Wi
S<BDARE®ERE®B®E TE% 4.400M8 2.4008
R SE P T L L i)
EASHEERANE S B 102 3.0600] _1.0608
S TP -y s B 2R
MEFROMBENT (L7530 T\ DR EHMBEITRENKBEDCORE UL \bElFiBsE LE T, R6.9.27
MBHRBBICHRNTOOFIUNBLLBDRERTIDBEEHDETIDTEFHTEIZE),



